H28 130 i H39
) 100 100 100 100
) 100 86.7 93.3 100
) 100 100 100 100
) 92.5 93.7 94.3 93.2
) 48 116 65 33
() 10 13 17




H28 30 Rl H39
) 869 957 584 1,600
( 5 5 5 8
) 0 0 2 2
2
H28 130 i H39
— 68.5 60 75
) 259 252 249 262
) 94 95 95 99
) 1 2 1 2 1

60.0 n=135




H28 H30 R1 H39
1,058 1,056 1,063 1,006
50 97 99 42
26.7 23 21.8 36
54 70
3,600 3,239 4,300 4,300
5 5.1 4.47 10

30




H28 30 i
_ 91.5 85.9
115.6 119.2 113.6
38.9
H27 40-4 -
13 11 13
2 60 2 37 2 4
62 66.6 68.5
85.9 (n=135)




H30

R1

H28 H39
15 15 15 15
) 14 15 16
60 61 57 70
4 4 4 7
7 8 9 9
10
39 11

1,674




